


O

0

0 O
I T 0
B 0
0.000000000000000000 00 00 0 e 0
ooooo

0.000000000000000000 00 00 D0 e 0
000000000000 00 DD D T e 0
0.000000000000000000 00 00 0 e 0
0.000000000000000000 00 00 D0 e 0
0.00000 00 0 0 0 0 0 oo 10
O 0 DD D D D D oo 11
0.000000000000 00D D DD e 12
0ooo

0. 0000000000 LI D D D D e 13
I 14
[ 2 DD T D D oo 15
ooooooon

I 16
0. 000000000 D DD D D e 17
ooooooon

I G 18
0.00000000000000000000029990 00 00 [0 o 19
0.0000000000000000000000000000 0019800 0 1000 -wrereseeersermsseoemsoomsoems oo 20
0.000000000000000000 00 D0 0 e 21



g 0o o o o o ogoobobo

U U U U U U U ED]'DZDE 000

0 O U

U U U U 506,620 100.0

U g 0O 180,495 35.6

g U U U U U U U 98,560 19.5

o o oo 81,935 16.2

U U 18,600 3.7

g o 0 U U U U U 11,716 2.3

g o o gooooboggooooao 30,979 6-1

g o oad U U U U U U 11,093 2.2

g o obd U U U U U 1,028 0.2

gooobo gobobboooogooboanb 3,699 0.7

U U U U 4,820 1.0

ooool. DOOO O0000O00D0D0OC486,59000) 0D ODOoOoOooooOO

.DEEDD oooooooooboobogoooooooboboogao

ODooO0OO0 OO0 8,0250 00000000000 O0OD0OO0OD0O0O00OO
Doo0OQ0OO0 37.20 0000




> ( )
0% | 5 |

o | 5.9

0% | 36.0% ; 1

\ ; 5.1 ST f
'.:.:EEEEE.:.:. -
0% - [1a.a%]  [is-on:ic Lasl| ¥ H
‘\ l 12, 0% il 3.0Mp
T T 4 - M :-'-I I'-'.
0% + HH S S 11.9%
SRR LI 29. 7%
T 22 5% -7
- I (22-5%)
13.8%
.0% |
-3.7
.0%
17.2 15.8 15.2 15.2 12.6

— 0
20.0% (000 ) (199 ) (1997 ) (1997 ) (1997 )

1. 12 Revenue Statistics 1965-1998 (OECD) National Accounts (OECD)

2.

3. 4.3 ) 2.6 1.7

4.

5. 2000 ( ( )

1995 ( )



OF

15

10

ERAFICHDIHERD (EH - AR OFE

(17.1)
(16.4) 0.3
0.7
1.0
1.4 (13.8) 2.5
03 6.2
0.8
7.3 30
2.6
50 24
2.0
1.6
(6.9)
- 05 _ (&) (6.1)
® 070 (1132 L - <°'2
3 (4t i fiEs) : .
Mo 37 12 —(F ) 91 8.8 . 02
= (4 i fiEs) _ s 3.3
o 13— rom ({4 hoffER) 93
32 2.8
i o (i)
B Vi 414X )R K A4 SUR 7 AU AN
(2000 %) (19964F) (19974) (19974F) (19974F)
(BE)ERNREEICHOSEERR - (TNMER CEER) DEIE(%)
B X MEIPS (N TSR FAH
HERD 5.3 12.6 10.4 12.7 5.0
fFhnfim &% < 25 7.0 6.7 8.1 2.3

(HE)BARITFER12EEFER—X, BALSZOECDIREVENUE STATISTICS 1965-1998 | R UL E & RHZ LU ERK,




— 21

12

21







11

12




gouggn

Uododonbo boboboboobo

ogpoooog

o odg

oJngnpog
gobboooogoon

ogpoooog
guoobooodd

googoboodgobdobfodbd

00oooooo 0000000000000
00000000000
00010000 000000000000
> OO0 o > 000

> 00ugggoooogd
googoog

> guooog

oQgo

- 0000000000000000
oooooon
'—0000000000000
oooooo

> gugon



gobbbdooobobboboodggonbooggbnn

gz2ooo0bogon

U U U U U U U U U U U U U
goooggao gbobooooggobbboodn gobbboggoboodad gbobooogoobboogn
goooo gooood gogoooo
goobbodd goo ERERE OO0O0odb@ooooooboomy

gobbboggoboodad gbobooogoobobooon gobobbogooboooon
gooog
o 0 0O O0O|000bd upood Upoon
Doooboobon Upoooboooboon boo0oboobooboonog
Upooobogoooo upooobooonog Upooobogoooo
Upoooboooboooo Uoooboooooon Uooobooobooon
opoooo upooono opoooo
Dpooobooon U upogd U Upooobogoooo U
gooooog gobobbboodooodoon guooooooooobbbn gooooooooobbod
g o o b |bbbboboooooood goooooboooobbod goooooooo

gobooboogooobbooon
goboboboodgn
gobobbuooogbboooodn
gobboogn

goobboooobooooa
gbooooogon
gbobooooggobbboodn
gbooooogon

gooobooooobobooon
gobobbogooboooon
gobobbogooboooon
goboboboodgn

oo



oo dggogdggogogadad

gzoo00000non

gouogogbooobdogbodoboougoboboboboobobuobobobobuooboogao
gouogobooboboooogbogobooooboboobobuoobobuoboboboboon

goooood

L.

gouogogbooobdogbodoboougoboboboboobobuobobobobuooboogao

goouobbobooogoobbbooouoobbbooodd

2.

gooobbgoogoobogogogooobbonododgooononooooonoooooooonod
ggdobbogggdaooogggdaoiogdggddoonodggaobongdggdaooogogdd
ggdobogggdagooogggogoobobooooobbobooouobbboooouobboboao

OO0O0oO0bOo0DbO0o0bOO0o0ob0oo0obOooboDoOooDboOooDboboooooDbao)HD

3.

guogaibgopnpdiogogdgogdaodgogdongoibdagbgonad

gogoooboad
(OCOOooODbOooDb

g o o o o o

0

(0Oboooo

g

gooooobogad
gogobgoodobad
gogobgoodobad

gogogogoibad
gogogooobgd
goddgad

g

gooobooogad
gogogooobgd
gogogooobgd

gogooon

0

g oood
o oooaib

gogoobad

guogogboobdoboobogoogobobouoobooobuoboobaa

0opQo



10,290

10,290

10,290

10,290

10,290

9,800

9,800

490

9,800

10,290

10

490



HE B O &E&

TH A B 4%+ 3077 15 2 B 1%

<100>

W2 B <
4%,

CIVRCE %)

1%
\

(

\

b <56.4>

4% X 29.5%

> =5% X

23.6%

ce e 5% X

4% X 25%

20%

= [BHPHEN =

\

':i>[ iﬂﬂj‘ﬁﬁﬁ&]@
LTHAA~

<56.4

d[%wﬁﬂmﬂa
)

0110

<43.6><

H 7

A

75

VAN

.\H%&miﬁwfﬁ

HED=OHIZ

\ 575 thig D
<bLD=®IZ




(b)

(@ (b)

12



